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Physics & Engineering MathemathS'Départment o " Faculty of " -
Total Marks: 150 Marks Engineering

Course Title: Engineering Mathematics (1) B Year: Preparatory year —<\las Course Code: PME0201
Date: 16 /5/2015 No. Of pages: 2 Allowed time: 3 hrs

Remarks: (Answer the following questions. Assume any missing data...)

Answer the following Questions:

Problem (1) (40 Mark)

a) Find the equation of the circle tangent to the line 3x + 4y = 40 at the pomt
(8, 4) and touches the Y-axis. o
b) Obtain the hyperbola whose asymptotes arex+2y+3=0,3x+4y+5=0

and passing through the point (1,-1). Find also its conjugate hyperbola.
c) Obtain the equation of the diameter to the parabola y2 = -2-7-5-x that bisects

the parallel chords 4x —y +k =0.
d) Evaluate the equation of the chord in the ellipse 4x? + 9y? = 36 bisected by
the point (1, 1).

Problem (2) (35 Mark)

"a) Deduce the equation of the tangent line to the circle x2 + y2 = a2 . Find also
the tangential points.

b) Evaluate the twofold equation of the double lines passing through the origin
and the points of intersection of the cuﬁe x? + yz +4x—-8y+7=0 with
theiinex+y=2.- “

c¢) Prove that the two points p(3, 2,—2) & q(1,2,10) are in different sides

~from the plane x — y + z = 2, Find the point of intersection between the line
pq with this plane.

d) Find the pole of the polar line x +y + 2 = 0 to the parabola y? = 4x.




Problem (3) (45 Mark)

Evaluate the following integrals: - |

1) f-——— dx 2) [ sin(Lnx) dx 3) fx it

10"‘ | | x+\/sih =1 x
6)f

dx dx
~7 10%+12 Vi—x?

4) [ tan’x. cosec*x dx  5) [ —

gy Sy | .
NIRRT A 9 [t dx

Problem (4) (30 Mark)

a) Evaluate the length of the curve of the function y = X 2 from the point (0, 0).
to the point (1, 1).

b) Evaluate the volume created by rotatmg the part of the curve in part (a) around
Y- axis. :

o) Compute‘ the area between the curve y = x3 and the curve y = x?.

, With our best wishes
Dr. Abdallah Shalaby - Dr. Assem Elshenawy




TANTA UNIVERSITY
FACULTY OF ENGINEERING

DEPARTMENT OF: Production Engineering & Mech. Desngn Dep
EXAMINATION for Primary year

COURSE TITLE: Engineering Drawing . : COURSE CODE: PMD0001
DATE:20-05-2015 | TERM: Second term TOTAL ASSESSMENT MARKS: Y50 | TIME ALLOWED: 4 HOURS
o125

Kipdd, Jonl) ghid o5 pa Ainl) pyan 00 il
(A2 £4) " ‘w«
Yvaﬂjwuw@aﬂ\dsﬂa\y)ugus
(Apighh cilglealt), u\ﬂuu .)LuY‘J(\ °)

' e | TEe T T
— o R s R AR

(R0 £Y) =Y ) L,_l__gol ok | M.J &y
. "y L0 _|20] LC A
il S ) sl | ELEVATION
B-B o~ gld —A >C

C-C gl B

A-A GElglE

N0 ey by JiEall gl
el Sl

19 rvz-l b B

.
- j-L . ‘
17 ] (A=0200) - Vo
1l | N gl shaiall an ) cglladll
" 1 | VIY pay oaliey Jiaal Jeall
2 s ] | Sl sl (5)



INL L

i 4
g *) - &
A J. =1 ey o llall
 A-B-C-D gl —A
“ PR
P =gl V-Vl g\-ka ~C
. VY man oy il JSA
o r...__L_,____.._«é; T ] Sialally Ay
n S S

¥
%
°
Y
179

. ‘4 — .
: 4 b
B | TS e — e
o . ' . ! 1
\ 1 ' ‘
. < : x19

WY o
__oc 275110
(Z;ﬁb) ~O 12216
=i ) oy G sllall
o~ plal A
s s B 21 500 LoNG I ieh
) i —C > |
01 any ey Jiliall JSil //<’ ///
Siaghaly Sa¥l <300
PL. 750 X650 X 12 y

G 5 M (8,Y,7) Ay e SN (0,A,1) Ak b (el Cpafiinn (o) o5 siva aslaall =10
A (V,1,2) OS 1Y G shaall 13 aly 53 ABC e Jfid cllaall 5 T(Y,1,Y) adaiilly ey

B(11,y,3) & C(x, 5, 4)

AilueAB Cus () (°,1,¢) LSJ-‘-‘“‘J‘ Q&\}S\ _,AC*BC 48 Gl (g gbuial ABC il Jia -1V
s Y1) AC267) > B(Lya), C (x,y,5) s e

(Aan¥)



Tanta

Faculty of
University &

Total Marks: 80 Marks Engineering

Course Title: Production Engineering Course Code: MPD0201 Year: Prim
Date: 21-05- 2015 [ Re-final] Allowed time: 3 Hr ~ No.of Pages: (1)

116U3 Sl LalS | aiada g1 ava ly ligla) Laida g 4] AL) aad 08 caa

(=400 o dsN ) s
jb@-@}ﬁ?&.«)hﬁbehﬂguqh)@ﬁﬁwﬂb?bmu.ud)ﬂbs.ﬂ .
.Qéal.‘u.)u&uu.\l\L..:LS&LQ.HMJ&EUA.HMﬁ)dW&C‘ﬂYi&JJML@@WJPMJ\..k_:

C T =dan Yy - AU ) el
el et lada g (3l B2l e IS5 ) ?
S s 5 ASLlly JoSiil) ugue aal an )l g gyl -0

(v =dajy) oGl ) gaad)

SBalaally Jusdl) vie el s e i i ) abﬁ:mghﬁhssw‘) -

—1h Laa DS e B palidia 00 S
un_m_.muhlpwﬂauu 48 pall 3 gall — Culadl)

(VN =dasn vyl ) e
W‘)”&U—’\JCJ“‘&‘ - ol (od!.\ﬂi)uuijidﬁdﬁkal&ﬂpcﬂi -
,?mexujus&sﬂ\wwutJMWu@lﬂ el A8NA AN £ la Y1 an Y a7 gl -

U+ V=400 el J) gl
,CJUJRJN:*Aoccﬂ\@?lﬁ—tg.ﬁda_}Jéws)g\&dfjwwl 3}6.)‘\9&1:\\9.!‘&,.\@-1
Sttt Jlaal Wl pan an g - flaill Jaa Uge ge Jradily Al$5 -G

(VY =Aa00 YY) —rgwalad) ) gl
Shidh clilee A akalll dag pdi o8 jlalily al$
-1 (8 B paliba Bl Giisf g
(815 — Ul ) Cua (e Adal At 238 — &y il g (35U 8 e

(Y+Y +t=clanA ) —saabad] Jlgad)
~1hbe p il g
Mg JS Al g S e pdalll 313 Lty
e YV E,07) 1R e Sae oulilae
.(?.A '\,/\) SJ&E@J}S\ C.:szégwgia .

e TN g (38 gl i) cual g

(,___ZJ..&.UU sabaadl cpall e¥e =)

-— ]




auy o

Iy c

J’x"dx

m#E-1

fa‘i udx
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j cosuudx
f sinuudx
I sec’uudx
f cse® uidx
j secutan uudx

j cscu cot u tdx

=3

f coshuudx
f sinh u ddx
f sechd wdx
f esch? u ddx
f sechu tanh u ddx

f cschu coth u tdx

~

f - d
g X
J u?—a?’

U dx
+u*
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u
| =
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i a (f)tH»l
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fl}:dx=§n(f)+c

=1

Where u = u(x)
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Tanta University
Time allowed : 2 hours

Mathematics and physics Engineering Department

Faculty of Engineering
Subject :Technical English

Make up Exam of Preparatory year 2014/2015
Answer The Following Questions: ’

Question (1):
Use the opposite of the underlined adjectives in technical statements of your own :
1- The units of the physical quantities in the equation are consistent .
2- It is practicable to assess the response of all pneumatic machines .
3- The last lesson in geometry deals with regular polygons .
4- Damage to the rolling bearings is probable .
5- Light waves are expected to propagate through homogeneous media .
6- The driving function is independent of the manipulating variable .
7- The curve representing the volume — density relationship is ascending .

Question (2):

Use " as " expressions : :
1-This is the main Cairo — Alex road , and........... it carries a great deal of traffic .
2-The copper and iron losses are dissipated heat .

3-The limestone in the furnace a flux to assist the melting operation.

.......

--------------

4-The tunnel, ....... originally ............. would have been too expensive .
5- The efficiency of a process is .............. the output , .....a percentage of the input .
Question (3):
Complete the following sentences using the words in the box :
Act radius tractor radiation
That average protractor quenched
Such valence - intensive quantified
Exert sanitary expensive vibration
1- The bridge , as originally designed , would have been to0.......cooeeeeerrnee.
2- BalisAandB......... pressure on each other.
3- Steel may be ............. in either water or oil.
4- The............ is used for measuring angles.
5- The area of a circle is approximately 3.14 times the ........ squared.
6- The number of electrons in the ....... orbit is the key to electrical conductivity.
Question (4):

Change into passive:

1-we name these circuit elements operational amplifiers.

2-You must take care not to overload the concrete column.

3-The operator can carry out several manufacturing operations on a milling machine.
4-The furnace smelts the ore.

5—they will start production of the modified apparatus soon.
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6-The driver has started the engine.
7-A lather can cut screws.
8-You must overload the current transformer.
9-Engineers adopt several techniques to calculate the moment of inertia.
10-we can use a thin grease as a lubricant in rolling bearings.

Question (4):

Choose the most suitable expression :

1- The experimental results are consistent ........ccveeeee. the theoretical analysis.
a) To b) for c)with

2- A 45°triangle has two 45° angles in addition to ............... angle.
a) aright b) anobtuse «¢) anacute

3- The figure shows a graph for stress .........c...... strain .
a) viz. b) vs. _ c) i.e.

4 - We don't think it was an accident . The technician did it ............ purpose.
a) At b) for c) on

5 —The use of a pressure gauge enabled the engineer .............. the boiler pressure .

a) reads b) reading ¢) to read

Question (5):

Translate into Arabic ;

Control engineering is of vital importance in both theory and practice . It is regarded as an

Interdisciplinary subject , relying on knowledge from various scientific fields . From familiar

Household uses such as an automatic bread toaster and a thermostatically controlled
furnace engineering influences almost all phases of modern human life.

Question (6):
Translate into English :

9,259 .. &S,> d8lbg o9 adlb 1 acei s Lpauiai Seug Jeddl Jiy e 808l sa aslali
&S,z aslb W95 losw Jeuidl Jid as,all (i all plau=Vi a8lk il sde gogll a8l
a,SilSanlly @Sl Lo o H90 (sde @Blall a>gig . &S )mesodl pluu=Vl @adlb il (sle

Ml 8)90 oo b JSuin Je=i gl @3l Gloww pal o9 &l ay,l,=llg auiboaslly
. pac oo BlVg sassV Lgisly o),

...................................................................................................................................................

With My Best Wishes Prof. Dr. Mostafa Mahmoud
Prof. Dr. Mona A. Darwish




